

UNICITY OF SHIFT POLYNOMIALS GENERATED BY MEROMORPHIC FUNCTIONS

M. TEJUSWINI AND N. SHILPA*

Abstract. This paper aims to prove the uniqueness result for shift polynomials of a meromorphic function and its higher order derivative sharing polynomials under suitable conditions. The result obtained generalizes the existing literature and examples given prove the acuteness of the imposed conditions.

1. Introduction

Throughout this article, the phrase “meromorphic function” means that the function is analytic everywhere except for poles in \mathbb{C} and “entire function” means that the function is analytic everywhere in \mathbb{C} . The fundamentals of Nevanlinna theory can be read in [3, 7, 18]. Denote the set $E = \{x : x \in \mathbb{R}^+\}$. Let $\mathcal{F} = \{f : f \text{ is non-constant meromorphic function in } \mathbb{C}\}$. For $f, g \in \mathcal{F}$ and $b \in \mathbb{C} \cup \{\infty\}$, if $f - b$ and $g - b$ have the identical zeros including multiplicities then f and g share b CM (counting multiplicities), if the multiplicities are ignored, then f and g share b IM (ignoring multiplicities) and if $1/f$ and $1/g$ share 0 CM then, f and g share ∞ CM [19]. We call b as the b points of f and g or value points of f and g . For $\phi(z) \in \mathcal{F}$, if $T(r, \phi) = S(r, f)$ then ϕ is called the “small function” of f where $T(r, \phi)$ is the Nevanlinna characteristic function and $S(r, f) = o(T(r, f))$, $r \notin E$, $r \rightarrow \infty$.

DEFINITION 1. [6] Let $E_k(b; f)$ denote the set of all b points of f . The multiplicity m of b is counted m times if $m \leq k$ and is counted $k + 1$ times if $m > k$. If $E_k(b; f) = E_k(b; g)$ then f, g share b with weight k .

Throughout this article, $F_* = f^n$ and by the sentence f, g shares (b, k) means that f, g shares the value b with weight k . f, g shares $(b, 0)[(b, \infty)] \iff f, g$ shares b IM[(CM)].

DEFINITION 2. [17]

$$N\left(r, \frac{1}{f}\right) = \int_0^r \frac{n(t, f) - n(0, f)}{t} dt + n(0, f) \log r,$$

Mathematics subject classification (2020): 30D35.

Keywords and phrases: Meromorphic function, entire function, uniqueness, weighted sharing, shift polynomials.

* Corresponding author.

wherein $n(r, f)$ denotes the number of zeros of f in the interior of the disk $|z| < r$ and $N\left(r, \frac{1}{f}\right)$ is called as the counting function of f .

Let $q \in \mathbb{Z}^+$ then $N_q(r, \frac{1}{f-b})$ denotes the counting function of f whose b -points are counted with the multiplicity q , the counting function $N_{(q)}(r, \frac{1}{f-b})$ of f means those b -points counted with proper multiplicity whose multiplicities are greater than q and $N_{<(q)}(r, \frac{1}{f-b})$ denotes the counting function of f whose b -points counted with proper multiplicity where the multiplicities are less than q . Correspondingly the reduced counting functions are given by $\overline{N}_q(r, \frac{1}{f-b})$, $\overline{N}_{(q)}(r, \frac{1}{f-b})$ and $\overline{N}_{<(q)}(r, \frac{1}{f-b})$ where the multiplicities are ignored [15]. The following definitions play a major role in the understanding of the main result:

DEFINITION 3. [16] Let $f \in \mathcal{F}$. The “order of f ” is given by

$$\rho(f) = \limsup_{r \rightarrow \infty} \frac{\log^+ T(r, f)}{\log r}. \quad (1)$$

DEFINITION 4. [5]

$$N_k\left(r, \frac{1}{f-b}\right) = \overline{N}\left(r, \frac{1}{f-b}\right) + \sum_{j=2}^k \overline{N}_{(j)}\left(r, \frac{1}{f-b}\right).$$

In 1920, R. Nevanlinna stated that if two entire functions f and g share five distinct values IM then the functions are identical or unique and the condition of sharing five values is inevitable. From then on researchers round the globe have extended this uniqueness result in various prospective. Many authors have implemented the uniqueness result for class of meromorphic functions. In 2009, Zhang gave the following noteworthy result:

THEOREM 1. [20] Let $f \in \mathcal{F}$ and $n(\geq 7) \in \mathbb{Z}$. If F_* and F_*' share 1 CM, then $F_* \equiv F_*'$, and f assumes the form $f(z) = ce^{\left(\frac{z}{n}\right)}$, where $c \neq 0$ is a constant.

Gradually the first derivative in the above result was extended to k^{th} derivative and the sharing of small function was introduced in the same article as follows:

THEOREM 2. [20] Let $f \in \mathcal{F}$, $n, k \in \mathbb{Z}^+$ and $a(z) (\not\equiv 0, \infty)$ be a small function of f . If suppose $F_* - a$ and $(F_*)^{(k)} - a$ share the value 0 CM and $(n-k-1)(n-k-4) > 3k+6$, then $F_* \equiv (F_*)^{(k)}$ and f assumes the form $f(z) = c_1 e^{\left(\frac{\lambda z}{n}\right)}$ where c_1 is a non-zero constant and $\lambda^k = 1$.

The result of theorem 2 was obtained under different necessary condition for sharing of small function a CM and a IM in [21]. Following the trend many authors incorporated different sharing conditions for F_* and $F_*^{(k)}$ like polynomial sharing, two distinct polynomial sharing, set sharing [1] and so on. For related work, one can refer [4, 13, 14, 20]. Lahiri and Majumder in [13] proved the uniqueness theorem for F_* and $F_*^{(k)}$ sharing two distinct small functions by introducing the concept of weighted sharing. The result is noted below:

THEOREM 3. [4] *Let the transcendental function $f \in \mathcal{F}$ such that $N(r, f) = S(r, f)$ and $a_i = a_i(z) (\neq 0, \infty)$ be small functions of f , where $i = 1, 2$. Let $n, k \in \mathbb{Z}^+$ such that $n \geq k + 1$. In addition if $F_* - a_1$ and $(F_*)^{(k)} - a_2$ share $(0, 1)$, then $(F_*)^{(k)} \equiv \frac{a_2}{a_1} F_*$. Furthermore, if $a_1 \equiv a_2$, then the conclusion of theorem 2 holds.*

The results of theorem 1, theorem 2 and theorem 3 for the entire class of functions can be referred in [9, 10, 11, 20, 21, 22]. With the advent of difference analogue of Nevanlinna theory, uniqueness theorems have evolved in this regard as well. In this direction Majumder-Saha [12] gave the below stated result:

THEOREM 4. [12] *Let the transcendental function $f \in \mathcal{F}$ be of finite order with finitely many poles. For constant $c (\neq 0) \in \mathbb{C}$, $n, k \in \mathbb{N}$, let $F_*(z) - Q_1(z)$ and $(F_*(z+c))^{(k)} - Q_2(z)$ share $(0, 1)$ and $f(z)$, $f(z+c)$ share 0 CM. If $n \geq k + 1$, then $(F_*(z+c))^{(k)} \equiv \frac{Q_2(z)}{Q_1(z)} F_*(z)$, where Q_1, Q_2 are polynomials with $Q_1, Q_2 \neq 0$. Furthermore, if $Q_1 = Q_2$, then the conclusion of theorem 2 holds.*

Now it is interesting to see what happens to the conclusion of theorem 4 when $f^n(z)P(f(z))$ and $[f^n(z+c)P(f(z+c))]^{(k)}$ replaces $F_*(z)$ and $(F_*(z+c))^{(k)}$. Taking a cue from this, the main result of the paper is stated below:

THEOREM 5. *Let $f(z)$ be a transcendental meromorphic function of finite order having poles of finite number. Define $P(f) = \sum_{i=0}^m a_i f^i$ such that $a_i, i \in \{0, 1, \dots, m\}$ are non zero constants. Let c be a non zero complex constant and m, n, k be positive integers. If $[f^n(z)P(f(z))] - Q_1(z)$ and $[f^n(z+c)P(f(z+c))]^{(k)} - Q_2(z)$ share $(0, 1)$ such that $f(z)$ and $f(z+c)$ share 0 CM with $n \geq m + k + 1$ then $[f^n(z+c)P(f(z+c))]^{(k)} \equiv \frac{Q_2}{Q_1} [f^n(z)P(f(z))]$ where Q_1 and Q_2 are non zero polynomials with $Q_1, Q_2 \neq 0$. In addition if $Q_1 \equiv Q_2$ then $f(z) = C e^{\frac{\lambda}{n+1} z}$, $i \in \{0, 1, \dots, m\}$, C, λ are constants such that $e^{\lambda C} = 1$ and $\lambda^k = 1$.*

REMARK 1. In the theorem 5 if $a_i = 0, i \in \{1, 2, \dots, m\}$ and $a_0 = 1$, then $P(f) = 1, m = 0$ and the conclusion of theorem 4 holds. Thus the main outcome of this paper is the generalization of result obtained in [12].

EXAMPLE 1. Let $f(z) = e^z + 1, c = 2\pi i, P(f) = f - 2$. Clearly $f(z)$ and $f(z+c)$ share 0 CM. For $Q_1 = 1$ and $Q_2 = 8, [f(z)P(f(z))] - Q_1(z)$ and $[f(z+c)P(f(z+c))]^{(2)} - Q_2(z)$ share 0 CM but $[f(z+c)P(f(z+c))]^{(2)} \not\equiv \frac{Q_2}{Q_1} [f(z)P(f(z))]$ as the condition $n \geq m + k + 1$ is not satisfied.

2. Lemmas

LEMMA 1. [2] *Let $f \in \mathcal{F}$ be of finite order and c be non zero complex constant then*

$$m\left(r, \frac{f(z+c)}{f(z)}\right) + m\left(r, \frac{f(z)}{f(z+c)}\right) = S(r, f), \quad (2)$$

$$T(r, f(z+c)) = T(r, f) + S(r, f). \quad (3)$$

LEMMA 2. [8] *Let $f \in \mathcal{F}$ be of finite order and c be non zero complex constant. Let $P(z, f)$ be a polynomial in $f(z+c)$ and its derivatives and $Q(z, f)$ be a polynomial in $f(z), f(z+c)$ and its derivatives with meromorphic coefficients $a_\lambda, \lambda \in \mathbb{Z}$ such that $m(r, a_\lambda) = S(r, f)$. If $f^n(z)P(z, f) = Q(z, f)$ and the total degree of $Q(z, f)$ is n then*

$$m(r, P(z, f)) = S(r, f).$$

3. Proof of Theorem

Let

$$F = f^n(z)P(f(z)), \quad (4)$$

$$G = [f^n(z+c)P(f(z+c))]^{(k)}.$$

Set

$$F_1(z) = \frac{F}{Q_1(z)} \quad \text{and} \quad G_1(z) = \frac{G}{Q_2(z)}. \quad (5)$$

Excluding the zeros of $Q_i(z)$, $i = 1, 2$, $F_1(z)$ and $G_1(z)$ clearly share $(1, 1)$ hence $\bar{N}\left(r, \frac{1}{F_1 - 1}\right) = \bar{N}\left(r, \frac{1}{G_1 - 1}\right) + S(r, f)$. Using (3) of lemma 1, we see that $S(r, f(z+c)) = S(r, f)$ and hence by (2) of lemma 1, we conclude that $m(r, \frac{G}{F}) = S(r, f)$. Define

$$\phi = \frac{F'_1(F_1 - G_1)}{F_1(F_1 - 1)}. \quad (6)$$

Case 1: Suppose $\phi \neq 0$. Evidently $m(r, \phi) = S(r, f)$. Assume z_0 to be the zero of $f(z)$ with multiplicity $p(\geq 1)$ and zero of $P(f(z))$ with multiplicity $q(\geq 1)$ except for the zeros of $Q_i(z)$, $i = 1, 2$. As $f(z)$ and $f(z+c)$ share 0 CM, we see that z_0 will be a zero of $f(z+c)$ with multiplicity p and zero of $P(f(z+c))$ with multiplicity q . From (5), z_0 will be zero of F_1 and G_1 with multiplicities $np+q$ and $np+q-k$ respectively. In this backdrop, (6) can be written as

$$\phi(z) = O((z - z_0)^{np+q-k-1}). \quad (7)$$

As $n \geq m+k+1$, it can be seen that $\phi(z)$ is holomorphic at z_0 . Now lets say z_1 is a zero of $F_1 - 1$ with multiplicity $q_1(\geq 2)$ except for the zeros of $P(f)$ and $Q_i(z)$, $i = 1, 2$. As F_1 and G_1 share $(1, 1)$, we see that z_1 is a zero of $G_1 - 1$ with multiplicity

$r_1 (\geq 2)$. In the neighbourhood of z_1 , the Taylor series expansion of functions will be as follows:

$$\begin{aligned} F_1(z) - 1 &= a_{q_1}(z - z_1)^{q_1} + a_{q_1+1}(z - z_1)^{q_1+1} + \dots, a_{q_1} \neq 0, \\ G_1(z) - 1 &= b_{r_1}(z - z_1)^{r_1} + b_{r_1+1}(z - z_1)^{r_1+1} + \dots, b_{r_1} \neq 0, \end{aligned}$$

$$F_1(z) - G_1(z) = \begin{cases} a_{q_1}(z - z_1)^{q_1} + a_{q_1+1}(z - z_1)^{q_1+1} + \dots \text{ if } q_1 < r_1 \\ -b_{r_1}(z - z_1)^{r_1} - b_{r_1+1}(z - z_1)^{r_1+1} \dots \text{ if } q_1 > r_1 \\ (a_{q_1} - b_{q_1})(z - z_1)^{q_1} + (a_{q_1+1} - b_{q_1+1})(z - z_1)^{q_1+1} \dots \text{ if } q_1 = r_1. \end{cases}$$

$$F_1'(z) = q_1 a_{q_1}(z - z_1)^{q_1-1} + (q_1 + 1)a_{q_1+1}(z - z_1)^{q_1} + \dots$$

Let $t_1 \geq \min\{q_1, r_1\} \geq 2$. With this regard, (6) can be rewritten as

$$\phi(z) = O((z - z_1)^{t_1-1}). \quad (8)$$

Clearly $\phi(z)$ is holomorphic at z_1 . The zeros of $Q_i(z)$, $i = 1, 2$ and poles of $f(z)$ forms the poles of $\phi(z)$ which implies that $\phi(z)$ has finitely many poles hence $N(r, \phi) = O(\log r)$ in turn $T(r, \phi) = S(r, f)$. From (8), we see that

$$\begin{aligned} \bar{N}_{(2)}\left(r, \frac{1}{F_1 - 1}\right) &\leq N\left(r, \frac{1}{\phi}\right) \leq T(r, \phi) + S(r, f), \\ &\Rightarrow \bar{N}_{(2)}\left(r, \frac{1}{F_1 - 1}\right) = S(r, f). \end{aligned}$$

Again as F_1 and G_1 share (1, 1) except for the zeros of $Q_i(z)$, $i = 1, 2$, we see that $\bar{N}_{(2)}\left(r, \frac{1}{G_1 - 1}\right) = S(r, f)$. Rearranging the terms in (6), we get

$$\frac{1}{F_1} = \frac{F_1'}{\phi F_1(F_1 - 1)} \left(1 - \frac{G_1}{F_1}\right). \quad (9)$$

From (5), we get $\frac{G_1}{F_1} = \frac{Q_1 G}{Q_2 F}$. Hence (9) will be of the form

$$\frac{1}{F_1} = \frac{F_1'}{\phi F_1(F_1 - 1)} \left(1 - \frac{Q_1 G}{Q_2 F}\right).$$

Hence

$$m\left(r, \frac{1}{F_1}\right) = S(r, f) \quad \text{and} \quad m\left(r, \frac{1}{f}\right) = S(r, f). \quad (10)$$

Case 1.1: Suppose $n > m + k + 1$. With reference to (7), we see that

$$N\left(r, \frac{1}{f}\right) \leq N\left(r, \frac{1}{\phi}\right) \leq T\left(r, \frac{1}{\phi}\right) \leq T(r, \phi) + S(r, f). \quad (11)$$

Combining (10) and (11) we get,

$$\begin{aligned} m\left(r, \frac{1}{f}\right) + N\left(r, \frac{1}{f}\right) &= S(r, f), \\ \Rightarrow T(r, f) &= S(r, f), \end{aligned} \quad (12)$$

which proves contradiction.

Case 1.2: Suppose $n = m + k + 1$ with reference to (7), we write

$$\begin{aligned} N_{(2)}\left(r, \frac{1}{f}\right) &\leq N\left(r, \frac{1}{\phi}\right) \leq T(r, \phi) + S(r, f), \quad \text{but} \\ T(r, f) &= N\left(r, \frac{1}{f}\right) + m\left(r, \frac{1}{f}\right), \quad \text{hence} \\ T(r, f) &= N_{(1)}\left(r, \frac{1}{f}\right) + S(r, f). \end{aligned} \quad (13)$$

By the definition of F and G , it is evident that

$$\overline{N}_{(2)}\left(r, \frac{1}{F - Q_1}\right) = S(r, f) \quad \text{and} \quad \overline{N}_{(2)}\left(r, \frac{1}{G - Q_2}\right) = S(r, f). \quad (14)$$

As $F - Q_1$ and $G - Q_2$ share $(0, 1)$ there exists a meromorphic function say Γ of finite order such that

$$\frac{G - Q_2}{F - Q_1} = \Gamma \quad (\text{or}) \quad G - Q_2 = \Gamma(F - Q_1). \quad (15)$$

Case 1.2.1: Now we consider the case when Γ is non constant. Let z_2 be a zero of Γ . As $F - Q_1$ and $G - Q_2$ share $(0, 1)$ it clearly means that z_2 is a zero of $F - Q_1$ with multiplicity say p_2 and z_2 is a zero of $G - Q_2$ with multiplicity say q_2 such that $p_2 < q_2$. In case if $p_2 > q_2$ then z_2 becomes a pole of Γ . Since the poles of F and G are finite it is evident that $N(r, F) = S(r, f)$ and $N(r, G) = S(r, f)$. Therefore using (14) and (15) we can write

$$\begin{aligned} \overline{N}\left(r, \frac{1}{\Gamma}\right) &\leq \overline{N}_{(2)}\left(r, \frac{1}{G - Q_2}\right) = S(r, f), \\ \overline{N}(r, \Gamma) &\leq \overline{N}_{(2)}\left(r, \frac{1}{F - Q_1}\right) = S(r, f), \end{aligned}$$

Differentiating (15), we get

$$G' - Q_2' = \Gamma'(F - Q_1) + \Gamma(F' - Q_1'). \quad (16)$$

In (16), replacing the term $F - Q_1$ and F from (15) and then rearranging, we arrive at

$$\begin{aligned} G'F - \frac{\Gamma'}{\Gamma}GF - GF' &= Q_1G - \left[\frac{\Gamma'}{\Gamma}Q_1 + Q_1'\right]G - Q_2F' + \left[Q_2' - \frac{\Gamma'}{\Gamma}Q_2\right]F \\ &\quad + \frac{\Gamma'}{\Gamma}Q_1Q_2 + Q_2Q_1' - Q_1Q_2'. \end{aligned} \quad (17)$$

Denote $\beta = \frac{\Gamma'}{\Gamma}$ and consequently $T(r, \beta) = S(r, f)$. $f(z)$ has finitely many poles and in addition $f(z)$ and $f(z+c)$ share 0 CM. Hence

$$f(z) = f(z+c) \psi(z) e^{\gamma(z)} \quad (\text{or}) \quad \frac{f(z)}{f(z+c)} = \psi(z) e^{\gamma(z)}, \quad (18)$$

where $\psi(z)$ is a rational function and $\gamma(z)$ is a polynomial. Differentiating (18), we get

$$f'(z) = f'(z+c) \psi(z) e^{\gamma(z)} + f(z+c) \psi'(z) e^{\gamma(z)} + f(z+c) \psi(z) e^{\gamma(z)} \gamma'(z). \quad (19)$$

Dividing (19) by (18), we get

$$\begin{aligned} \frac{f'(z)}{f(z)} &= \frac{f'(z+c)}{f(z+c)} + \frac{\psi'(z)}{\psi(z)} + \gamma'(z). \\ m(r, \psi e^\gamma) &= m\left(r, \frac{f(z)}{f(z+c)}\right). \end{aligned}$$

From lemma 2, we conclude that

$$m(r, \psi e^\gamma) = S(r, f) \quad \text{and} \quad T(r, \psi e^\gamma) = S(r, f).$$

From (4), we have

$$\begin{aligned} G(z) &= \{a_m f^{m+n}(z+c) + a_{m-1} f^{m+n-1}(z+c) + \dots + a_1 f^{n+1}(z+c) \\ &\quad + a_0 f^n(z+c)\}^{(k)}, \\ &= \{G_m + G_{m-1} + \dots + G_1 + G_0\}^{(k)} \\ &= \left\{ \sum_{j=0}^m G_j \right\}^{(k)}, \quad \text{where } G_j = a_i f^{n+j}(z+c). \end{aligned} \quad (20)$$

For $k = 1$ differentiating the above equation,

$$G'_i = \sum_{i=0}^m a_i (n+i) f^{n+i-1}(z+c) f'(z+c),$$

For $k = 2$ differentiating the above equation,

$$\begin{aligned} G''_i &= \sum_{i=0}^m [a_i (n+i)(n+i-1) f^{n+i-2}(z+c) [f'(z+c)]^2 \\ &\quad + a_i (n+i) f^{n+i-1}(z+c) f''(z+c)], \end{aligned}$$

For $k = 3$ differentiating the above equation,

$$\begin{aligned} G'''_i &= \sum_{i=0}^m [a_i (n+i)(n+i-1)(n+i-2) f^{n+i-3}(z+c) [f'(z+c)]^3 + 3a_i (n+i) \\ &\quad (n+i-1) f^{n+i-2}(z+c) f'(z+c) f''(z+c) + a_i (n+i) f^{n+i-1}(z+c) f'''(z+c)]. \end{aligned}$$

In general differentiating k times we get,

$$G_i^{(k)} = \sum_{\lambda^i} a_{\lambda^i} (f(z+c))^{s_0^{\lambda^i}} (f'(z+c))^{s_1^{\lambda^i}} (f''(z+c))^{s_2^{\lambda^i}} \dots (f^{(k)}(z+c))^{s_k^{\lambda^i}}, \quad (21)$$

where $s_0^{\lambda^i}, s_1^{\lambda^i}, \dots, s_k^{\lambda^i} \in \mathbb{Z}^+$ such that $\sum_{j=0}^k s_j^{\lambda^i} = n+i$ and $n+i-k \leq s_0^{\lambda^i} \leq n+i-1$ for $i \in \{0, 1, \dots, m\}$ and a_{λ^i} are constants. Substituting (21) in (20), we get

$$\begin{aligned} G(z) &= \sum_{\lambda^m} a_{\lambda^m} (f(z+c))^{s_0^{\lambda^m}} (f'(z+c))^{s_1^{\lambda^m}} (f''(z+c))^{s_2^{\lambda^m}} \dots (f^{(k)}(z+c))^{s_k^{\lambda^m}} + \\ &\sum_{\lambda^{m-1}} a_{\lambda^{m-1}} (f(z+c))^{s_0^{\lambda^{m-1}}} (f'(z+c))^{s_1^{\lambda^{m-1}}} (f''(z+c))^{s_2^{\lambda^{m-1}}} \dots (f^{(k)}(z+c))^{s_k^{\lambda^{m-1}}} \\ &+ \dots + \sum_{\lambda^1} a_{\lambda^1} (f(z+c))^{s_0^{\lambda^1}} (f'(z+c))^{s_1^{\lambda^1}} (f''(z+c))^{s_2^{\lambda^1}} \dots (f^{(k)}(z+c))^{s_k^{\lambda^1}} \\ &+ \sum_{\lambda^0} a_{\lambda^0} (f(z+c))^{s_0^{\lambda^0}} (f'(z+c))^{s_1^{\lambda^0}} (f''(z+c))^{s_2^{\lambda^0}} \dots (f^{(k)}(z+c))^{s_k^{\lambda^0}}. \end{aligned} \quad (22)$$

Differentiating (22), we get

$$\begin{aligned} G'(z) &= \sum_{\lambda^m} b_{\lambda^m} (f(z+c))^{t_0^{\lambda^m}} (f'(z+c))^{t_1^{\lambda^m}} (f''(z+c))^{t_2^{\lambda^m}} \dots (f^{(k+1)}(z+c))^{t_{k+1}^{\lambda^m}} + \\ &\sum_{\lambda^{m-1}} b_{\lambda^{m-1}} (f(z+c))^{t_0^{\lambda^{m-1}}} (f'(z+c))^{t_1^{\lambda^{m-1}}} (f''(z+c))^{t_2^{\lambda^{m-1}}} \dots (f^{(k+1)}(z+c))^{t_{k+1}^{\lambda^{m-1}}} \\ &+ \dots + \sum_{\lambda^1} b_{\lambda^1} (f(z+c))^{t_0^{\lambda^1}} (f'(z+c))^{t_1^{\lambda^1}} (f''(z+c))^{t_2^{\lambda^1}} \dots (f^{(k+1)}(z+c))^{t_{k+1}^{\lambda^1}} \\ &+ \sum_{\lambda^0} b_{\lambda^0} (f(z+c))^{t_0^{\lambda^0}} (f'(z+c))^{t_1^{\lambda^0}} (f''(z+c))^{t_2^{\lambda^0}} \dots (f^{(k+1)}(z+c))^{t_{k+1}^{\lambda^0}}, \end{aligned} \quad (23)$$

where $t_0^{\lambda^i}, t_1^{\lambda^i}, \dots, t_{k+1}^{\lambda^i} \in \mathbb{Z}^+$ such that $\sum_{j=0}^{k+1} t_j^{\lambda^i} = n+i$ and $n+i-k-1 \leq t_0^{\lambda^i} \leq n+i-1$ for $i \in \{0, 1, \dots, m\}$ and b_{λ^i} are constants. From (4), we have

$$F(z) = f^{m+n}(z) \left[a_m + \frac{a_{m-1}}{f(z)} + \dots + \frac{a_1}{f^{m-1}(z)} + \frac{a_0}{f^m(z)} \right]. \quad (24)$$

Differentiating (24), we get

$$F'(z) = f^{m+n}(z) f'(z) \left[\frac{a_m(m+n)}{f(z)} + \frac{a_{m-1}(m+n-1)}{f^2(z)} + \dots + \frac{a_1(n+1)}{f^m(z)} + \frac{a_0 n}{f^{m+1}(z)} \right]. \quad (25)$$

Substituting (22), (23), (24) and (25) in (17), we see that

$$f^{m+n}(z) \left\{ G' \left[a_m + \frac{a_{m-1}}{f(z)} + \dots + \frac{a_1}{f^{m-1}(z)} + \frac{a_0}{f^m(z)} \right] - \beta G \left[a_m + \frac{a_{m-1}}{f(z)} + \dots + \frac{a_1}{f^{m-1}(z)} + \frac{a_0}{f^m(z)} \right] - G \frac{f'(z)}{f(z)} \left[a_m(m+n) + \frac{a_{m-1}(m+n-1)}{f(z)} + \dots + \frac{a_1(n+1)}{f^{m-1}(z)} + \frac{a_0 n}{f^m(z)} \right] \right\} = Q(z), \quad (26)$$

where $Q(z)$ is a differential polynomial in $f(z)$ and $f(z+c)$ of degree n . Let

$$\begin{aligned} P_1(z) &= a_m + \frac{a_{m-1}}{f(z)} + \dots + \frac{a_1}{f^{m-1}(z)} + \frac{a_0}{f^m(z)}, \\ P_2(z) &= a_m(m+n) + \frac{a_{m-1}(m+n-1)}{f(z)} + \dots + \frac{a_1(n+1)}{f^{m-1}(z)} + \frac{a_0 n}{f^m(z)}, \\ G'(z) P_1(z) - \beta G(z) P_1(z) - G(z) \frac{f'(z)}{f(z)} P_2(z) &= P(z). \end{aligned} \quad (27)$$

Using (27) in (26), we get

$$f^{m+n}(z) P(z) = Q(z). \quad (28)$$

From (20), $\frac{f'(z)}{f(z)}$ can be replaced by $\frac{f'(z+c)}{f(z+c)} + \frac{\Psi'(z)}{\Psi(z)} + \gamma'(z)$. Hence from (27),

$$\begin{aligned} P(z) &= P_1(z) \left\{ \sum_{\lambda^m} b_{\lambda^m} (f(z+c)) t_0^{\lambda^m} (f'(z+c)) t_1^{\lambda^m} \dots (f^{(k+1)}(z+c)) t_{k+1}^{\lambda^m} \right. \\ &+ \sum_{\lambda^{m-1}} b_{\lambda^{m-1}} (f(z+c)) t_0^{\lambda^{m-1}} (f'(z+c)) t_1^{\lambda^{m-1}} \dots (f^{(k+1)}(z+c)) t_{k+1}^{\lambda^{m-1}} \\ &+ \dots + \sum_{\lambda^1} b_{\lambda^1} (f(z+c)) t_0^{\lambda^1} (f'(z+c)) t_1^{\lambda^1} \dots (f^{(k+1)}(z+c)) t_{k+1}^{\lambda^1} \\ &+ \sum_{\lambda^0} b_{\lambda^0} (f(z+c)) t_0^{\lambda^0} (f'(z+c)) t_1^{\lambda^0} \dots (f^{(k+1)}(z+c)) t_{k+1}^{\lambda^0} \\ &- \beta \left\{ \sum_{\lambda^m} a_{\lambda^m} (f(z+c)) s_0^{\lambda^m} (f'(z+c)) s_1^{\lambda^m} \dots (f^{(k)}(z+c)) s_k^{\lambda^m} \right. \\ &+ \sum_{\lambda^{m-1}} a_{\lambda^{m-1}} (f(z+c)) s_0^{\lambda^{m-1}} (f'(z+c)) s_1^{\lambda^{m-1}} \dots (f^{(k)}(z+c)) s_k^{\lambda^{m-1}} + \dots \\ &+ \sum_{\lambda^1} a_{\lambda^1} (f(z+c)) s_0^{\lambda^1} (f'(z+c)) s_1^{\lambda^1} \dots (f^{(k)}(z+c)) s_k^{\lambda^1} \\ &\left. \left. + \sum_{\lambda^0} a_{\lambda^0} (f(z+c)) s_0^{\lambda^0} (f'(z+c)) s_1^{\lambda^0} \dots (f^{(k)}(z+c)) s_k^{\lambda^0} \right\} \right\} \end{aligned}$$

$$\begin{aligned}
& -f'(z+c) P_2(z) \left\{ \sum_{\lambda^m} a_{\lambda^m} (f(z+c))^{s_0^{\lambda^m}-1} (f'(z+c))^{s_1^{\lambda^m}} \dots (f^{(k)}(z+c))^{s_k^{\lambda^m}} \right. \\
& + \sum_{\lambda^{m-1}} a_{\lambda^{m-1}} (f(z+c))^{s_0^{\lambda^{m-1}}-1} (f'(z+c))^{s_1^{\lambda^{m-1}}} \dots (f^{(k)}(z+c))^{s_k^{\lambda^{m-1}}} + \dots \\
& + \sum_{\lambda^1} a_{\lambda^1} (f(z+c))^{s_0^{\lambda^1}-1} (f'(z+c))^{s_1^{\lambda^1}} \dots (f^{(k)}(z+c))^{s_k^{\lambda^1}} \\
& \left. + \sum_{\lambda^0} a_{\lambda^0} (f(z+c))^{s_0^{\lambda^0}-1} (f'(z+c))^{s_1^{\lambda^0}} \dots (f^{(k)}(z+c))^{s_k^{\lambda^0}} \right\} \\
& - G \left[\frac{\psi'(z)}{\psi(z)} + \gamma'(z) \right] P_2(z).
\end{aligned}$$

The term $G \left[\frac{\psi'(z)}{\psi(z)} + \gamma'(z) \right] P_2(z)$ in the above equation does not contain highest power of $f'(z+c)$ and hence can be neglected. In general $P(z)$ will be a differential polynomial in $f(z+c)$ of degree $k+1$ which can be written in the following form

$$P(z) = H [f'(z+c)]^{k+1} + I_*(f), \quad (29)$$

where H is a suitable constant and $I_*(f)$ is a polynomial. In specific $I_*(f)$ is of the form

$$\begin{aligned}
I_*(f) = S(\beta, \beta', \psi, \psi', \gamma') & \left\{ \sum_{\lambda^m} (f(z+c))^{u_0^{\lambda^m}} (f'(z+c))^{u_1^{\lambda^m}} \dots (f^{(k+1)}(z+c))^{u_{k+1}^{\lambda^m}} \right. \\
& + \sum_{\lambda^{m-1}} (f(z+c))^{u_0^{\lambda^{m-1}}} (f'(z+c))^{u_1^{\lambda^{m-1}}} \dots (f^{(k+1)}(z+c))^{u_{k+1}^{\lambda^{m-1}}} + \dots + \\
& \sum_{\lambda^1} (f(z+c))^{u_0^{\lambda^1}} (f'(z+c))^{u_1^{\lambda^1}} \dots (f^{(k+1)}(z+c))^{u_{k+1}^{\lambda^1}} \\
& \left. + \sum_{\lambda^0} (f(z+c))^{u_0^{\lambda^0}} (f'(z+c))^{u_1^{\lambda^0}} \dots (f^{(k+1)}(z+c))^{u_{k+1}^{\lambda^0}} \right\},
\end{aligned}$$

where $u_0^{\lambda^i}, u_1^{\lambda^i}, \dots, u_{k+1}^{\lambda^i} \in \mathbb{Z}^+$ such that $\sum_{j=0}^{k+1} u_j^{\lambda^i} = n+2i$ and $n+2i-k \leq u_0^{\lambda^i} \leq n+2i-1$ for $i \in \{0, 1, \dots, m\}$ and $S(\beta, \beta', \psi, \psi', \gamma')$ is a polynomial in $\beta, \beta', \psi, \psi', \gamma'$ with constant coefficients. With reference to (28), we take up two cases:

Case 1.2.1.1: Suppose $P(z) \not\equiv 0$. Using lemma 2, we see that $m(r, P) = S(r, f)$ and hence

$$T(r, P) = S(r, f) \quad \text{and} \quad T(r, P') = S(r, f). \quad (30)$$

Differentiating (29), we get

$$P'(z) = H(k+1) [f'(z+c)]^k f''(z+c) + L S(z) [f'(z+c)]^{k+1} + S_1(z), \quad (31)$$

where L is a suitable constant, $S(z) = S(\beta, \beta', \psi, \psi', \gamma')$ and $S_1(z)$ is a polynomial of the form

$$S_1(z) = S(z) \left\{ \sum_{\lambda^m} (f(z+c))^{v_0^{\lambda^m}} (f'(z+c))^{v_1^{\lambda^m}} \dots (f^{(k+1)}(z+c))^{v_{k+1}^{\lambda^m}} \right. \\ + \sum_{\lambda^{m-1}} (f(z+c))^{v_0^{\lambda^{m-1}}} (f'(z+c))^{v_1^{\lambda^{m-1}}} \dots (f^{(k+1)}(z+c))^{v_{k+1}^{\lambda^{m-1}}} \\ + \dots + \sum_{\lambda^1} (f(z+c))^{v_0^{\lambda^1}} (f'(z+c))^{v_1^{\lambda^1}} \dots (f^{(k+1)}(z+c))^{v_{k+1}^{\lambda^1}} \\ \left. + \sum_{\lambda^0} (f(z+c))^{v_0^{\lambda^0}} (f'(z+c))^{v_1^{\lambda^0}} \dots (f^{(k+1)}(z+c))^{v_{k+1}^{\lambda^0}} \right\},$$

where $v_0^{\lambda^i}, v_1^{\lambda^i}, \dots, v_{k+1}^{\lambda^i} \in \mathbb{Z}^+$ such that $\sum_{j=0}^{k+1} v_j^{\lambda^i} = n+2i$ and $n+2i-k \leq v_0^{\lambda^i} \leq n+2i-1$ for $i \in \{0, 1, \dots, m\}$. Assume z_3 to be a simple zero of $f(z+c)$ except for the zeros of Γ and Γ' . So (29) and (31) can be written as

$$P(z_3) = H [f'(z_3+c)]^{k+1}, \quad (32)$$

$$P'(z_3) = H (k+1) [f'(z_3+c)]^k f''(z_3+c) + L S(z_3) [f'(z_3+c)]^{k+1}. \quad (33)$$

Using (32) in (33) and then rearranging, we get

$$P(z_3) f''(z_3+c) - \frac{P'(z_3) f'(z_3)}{k+1} + \frac{L S(z_3) P(z_3) f'(z_3+c)}{H (k+1)} = 0. \quad (34)$$

Let $K_1(z) = \frac{1}{k+1}$ and $K_2(z) = \frac{L S(z_3)}{H (k+1)}$, so (34) becomes

$$P(z_3) f''(z_3+c) - [K_1(z) P'(z_3) - K_2(z) P(z_3)] f'(z_3+c) = 0.$$

Clearly z_3 is a zero of $P(z) f''(z+c) - [K_1(z) P'(z) - K_2(z) P(z)] f'(z+c)$ and consequently $T(r, K_1) = S(r, f)$ and $T(r, K_2) = S(r, f)$. Lets define

$$\phi_1(z) = \frac{P(z) f''(z+c) - [K_1(z) P'(z) - K_2(z) P(z)] f'(z+c)}{f(z+c)}. \quad (35)$$

Let

$$v_1(z) = \frac{\phi_1(z)}{P(z)} \quad \text{and} \quad v_2(z) = \frac{K_1(z) P'(z)}{P(z)} - K_2(z). \quad (36)$$

Using (36), (35) can be written as

$$f''(z+c) = v_1(z) f(z+c) + v_2(z) f'(z+c). \quad (37)$$

Clearly $T(r, v_1) = S(r, f)$ and $T(r, v_2) = S(r, f)$. Suppose if $\phi_1(z) \equiv 0$ then $v_1(z) = 0$; the detailed analysis of this case is on the same lines of the equation (3.24) in [12]. Lets suppose if $\phi_1(z) \not\equiv 0$, then from (36), we have

$$P'(z) = \left[\frac{v_2(z)}{K_1(z)} + \frac{K_2(z)}{K_1(z)} \right] P(z). \quad (38)$$

Substituting (29) in (38), we get

$$P'(z) = \left[\frac{v_2(z)}{K_1(z)} + \frac{K_2(z)}{K_1(z)} \right] H [f'(z+c)]^{k+1} + \left[\frac{v_2(z)}{K_1(z)} + \frac{K_2(z)}{K_1(z)} \right] I_*(f). \quad (39)$$

Substituting (37) in (31), we get

$$P'(z) = H(k+1)v_1(z)[f'(z+c)]^k f(z+c) + [H(k+1)v_2(z) + LS(z)] [f'(z+c)]^{k+1} + S_1(z). \quad (40)$$

Comparing equations (39) and (40), we see that

$$\begin{aligned} & \left[H \left(\frac{v_2(z)}{K_1(z)} + \frac{K_2(z)}{K_1(z)} \right) - H(k+1)v_2(z) - LS(z) \right] [f'(z+c)]^{k+1} \\ & - H(k+1)v_1(z)[f'(z+c)]^k f(z+c) + \left[\frac{v_2(z)}{K_1(z)} + \frac{K_2(z)}{K_1(z)} \right] I_*(f) - S_1(z) \equiv 0. \end{aligned}$$

Since $v_1(z) \not\equiv 0$, from (41), we have

$$N_1 \left(r, \frac{1}{f} \right) = S(r, f). \quad (41)$$

Using equations (13) and (41), we see that $T(r, f) = S(r, f)$ which is a contradiction.

Case 1.2.1.2: Suppose $P(z) \equiv 0$. From (28), we see that $Q(z) \equiv 0$ hence (17) becomes

$$G'F - \frac{\Gamma'}{\Gamma}GF - GF' \equiv 0 \quad (\text{or}) \quad \frac{G'}{G} = \frac{\Gamma'}{\Gamma} + \frac{F'}{F}. \quad (42)$$

On Integrating (42), we get $G = d\Gamma F$ where d is a non zero constant. We have $n = m+k+1$ and $\bar{N}(r, \Gamma) = S(r, f)$ hence from (15) it follows that $\bar{N}\left(r, \frac{1}{f}\right) = S(r, f)$ and consequently from (13), $T(r, f) = S(r, f)$ which leads to a contradiction.

Case 1.2.2: Let us consider the case when Γ is a constant say D such that $D \neq 0$. From (15), we can write

$$G - Q_2 = D(F - Q_1) \quad (\text{or}) \quad G - DF = Q_2 - DQ_1. \quad (43)$$

We have $n = m+k+1$, it follows that $\bar{N}\left(r, \frac{1}{f}\right) = S(r, f)$ and consequently from (13), $T(r, f) = S(r, f)$ which leads to a contradiction.

Case 2: Suppose $\phi \equiv 0$. From (6), we get $F_1 \equiv G_1$ i.e.,

$$[f^n(z+c)P(f(z+c))]^{(k)} \equiv \frac{Q_2}{Q_1}[f^n(z)P(f(z))]. \quad (44)$$

Furthermore if $Q_1 \equiv Q_2$, then

$$[f^n(z+c)P(f(z+c))]^{(k)} \equiv [f^n(z)P(f(z))]. \quad (45)$$

Lets assume z_4 to be the zero of $f(z)$ with multiplicity say r . As $f(z)$ and $f(z+c)$ share 0 CM, z_4 will be a zero of $f(z+c)$ with multiplicity t , z_4 is a zero of $[f^n(z)P(f(z))]$ with multiplicity $(m+n)r$ and z_4 is a zero of $[f^n(z+c)P(f(z+c))]^{(k)}$ with multiplicity $(m+n)r-k$. This will be a contradiction in the backdrop of (45). Denote:

$$G_2(z) = f^n(z+c)P(f(z+c)) = a_i f^{n+i}(z+c), \quad i \in \{0, 1, \dots, m\}. \quad (46)$$

Clearly from (46), $[G_2(z)]^{(k)} \neq 0$ as $f(z) \neq 0$ and $f(z+c) \neq 0$. Now as $f(z)$ is a transcendental meromorphic function with finitely many poles and $f(z) \neq 0$, $f(z)$ must be of the form

$$f(z) = \frac{e^{L_2(z)}}{L_1(z)}, \quad (47)$$

where $L_1(z)$ is a non zero polynomial and $L_2(z)$ is a non constant polynomial. Using (47) in (46), $G_2(z)$ can be re-written as

$$G_2(z) = a_i \frac{e^{L_4(z)}}{L_3(z)}, \quad \text{where } L_3(z) = L_1^{n+i}(z+c), L_4(z) = (n+i)L_2(z+c). \quad (48)$$

Define:

$$\chi(z) = \frac{G_2'(z)}{G_2(z)} = L_4'(z) - \frac{L_3'(z)}{L_3(z)}. \quad (49)$$

Using (49) in lemma 2.4 of [12], we get

$$\frac{G_2^{(k)}(z)}{G_2(z)} = \chi^k + Q_{k-1}(\chi), \quad (50)$$

where $Q_{k-1}(\chi)$ is a polynomial of degree $k-1$ in χ and its derivative.

Case 2.1: Suppose L_4' is not a constant. Clearly $\frac{G_2^{(k)}(z)}{G_2(z)} \sim \chi^k \sim (L_4')^k \rightarrow \infty$ as $z \rightarrow \infty$. We know that every non-constant rational function assumes every value in the closed complex plane. Hence $G_2(z)^{(k)} \equiv 0$ somewhere in the open complex plane which is a contradiction.

Case 2.2: Suppose L_4' is a constant. Let $L_4' = \lambda \neq 0$. Suppose if $\chi(z)$ is non constant, then from (49), we have $\chi(z) = \lambda$ and consequently $\chi'(z) = \chi''(z) = \dots = \chi^{(k)}(z) = 0$ as $z \rightarrow \infty$. Using lemma 2.4 of [12], $\frac{G_2^{(k)}(z)}{G_2(z)} = \lambda^k, z \rightarrow \infty$. This means

that $\frac{G_2^{(k)}(z)}{G_2(z)}$ must have a zero in the open complex plane and incidentally $\chi(z)$ is a constant. Therefore $L_4' = \lambda = \chi(z)$. From (50) we get,

$$G_2(z) = e^{\lambda z + d}, \quad (51)$$

where d is a constant and consequently from (46) we get,

$$f(z) = C e^{\left(\frac{\lambda z}{n+i}\right)}, \quad (52)$$

where $C(\neq 0) = \frac{c_*}{a_i}$ is a constant such that $e^{\lambda C} = 1$, c_* is an integration constant and $\lambda^k = 1$. \square

Acknowledgement. The first author is grateful to Presidency University, Bengaluru for supporting this research work by granting the Junior Research Fellowship (University Research Fellowship) Ref. No. PUNIV01102.

REFERENCES

- [1] A. BANERJEE AND B. CHAKRABORTY, *On The Uniqueness Of Power Of a Meromorphic Function Sharing a Set With Its k^{th} Derivative*, J. of the Indian Math. Soc., **85**, (2018), 1–15.
- [2] Y. M. CHIANG AND S. J. FENG, *On The Nevanlinna Characteristic $f(z + \eta)$ And Difference Equations In Complex Plane*, Ramanujan J., **16**, (2008), 105–129.
- [3] W. K. HAYMAN, *Meromorphic Functions*, Clarendon Press, Oxford, 1964.
- [4] I. LAHIRI AND S. MAJUMDER, *On a conjecture of Lu, Li and Yang*, Preprint, **11**, (2018).
- [5] I. LAHIRI AND B. PAL, *Bruck Conjecture And a Linear Differential Polynomial*, Commun. Korean Math. Soc., **33**, 3 (2018), 799–808.
- [6] I. LAHIRI AND P. SAHOO, *On a Uniqueness Theorem Of H. ueda*, J. Korean Math. Soc., **47**, 3 (2010), 467–482.
- [7] I. LAINE, *Nevanlinna Theory And Complex Differential Equations*, Walter de Gruyter, Berlin, 1993.
- [8] I. LAINE AND C. C. YANG, *Clunie Theorems For Difference And q -Difference Polynomials*, J. London Math. Soc., **76**, (2007), 556–566.
- [9] F. LU AND H. X. YI, *The Bruck Conjecture And Entire Functions Sharing Polynomials With their k^{th} Derivatives*, J. Korean Math. Soc., **48**, 3 (2011), 499–512.
- [10] W. LU, Q. LI AND C. C. YANG, *On The Transcendental Entire Solutions Of a Class Of Differential Equations*, Bull. Korean Math. Soc., **51**, 5 (2014), 1281–1289.
- [11] S. MAJUMDER, *A Result On A Conjecture of W. Lu, Q. Li and C. Yang*, Bull. Korean Math. Soc., **53**, 2 (2016), 411–421.
- [12] S. MAJUMDER AND S. SAHA, *A Result on A Question of Lu, Li and Yang*, Filomat, **33**, 9 (2019), 2893–2906.
- [13] S. MAJUMDER AND S. SAHA, *Power Of Meromorphic Function Sharing Polynomials With Derivative Of Its Combination With Its Shift*, Math. Slovaca, **69**, 5 (2019), 1037–1052.
- [14] P. SAHOO AND G. BISWAS, *Uniqueness of Entire Functions Sharing Polynomials with Their Derivatives*, Kyungpook Math. J., **58**, (2018), 519–531.
- [15] N. SHILPA AND L. N. ACHALA, *Uniqueness Of Meromorphic Functions Of a Certain Non Linear Differential Polynomials*, Int. Elec. J. of Pure and Appl. Math., **10**, 7 (2016), 23–39.
- [16] M. TEJUSWINI AND N. SHILPA, *Q -Shift Differential Polynomial of Meromorphic Functions Sharing I Value*, J. Anal. **29** (2021), 47–65.
- [17] J. F. XU AND H. X. YI, *A Precise Inequality Of Differential Polynomials Related To Small Functions*, J. Math. Ineq., **10**, 4 (2016), 971–976.

- [18] C. C. YANG AND H. X. YI, *Uniqueness Theory Of Meromorphic Functions*, Kluwer Academic publishers, 2003.
- [19] Q. C. ZHANG, *Meromorphic Functions Sharing Three Values*, Indian J. Pure Appl. Math., **30**, (1999), 667–682.
- [20] J. L. ZHANG, *Meromorphic Functions Sharing a small function with their derivatives*, Kyungpook Math. J., **49**, (2009), 143–154.
- [21] J. L. ZHANG AND L. Z. YANG, *A Power Of a Meromorphic Function Sharing a Small Function With Its Derivative*, Ann. Aca. Sci. Fenn. Math., **34**, (2009), 249–260.
- [22] J. L. ZHANG AND L. Z. YANG, *A Power Of An Entire Function Sharing One Value With Its Derivative*, Comput. Math. Appl., **60**, (2010), 2153–2160.

(Received June 12, 2021)

M. Tejuswini
Department of Mathematics
School of Engineering, Presidency University
Itagalpur, Bengaluru 560064, Karnataka, India
e-mail: 9tejuswini3@gmail.com

N. Shilpa
Department of Mathematics
School of Engineering, Presidency University
Itagalpur, Bengaluru 560064, Karnataka, India
e-mail: shilpajaikumar@gmail.com